Subject: new definition of ARI
Posted by lucianabrondi on Fri, 09 Nov 2018 22:11:57 GMT

View Forum Message <> Reply to Message

Dear Moderators,

| am using NFHS4 India, looking at acute respiratory symptoms. If this survey uses questionnaire
recode VI for ARI, should | use the old definition, which includes cough, i. e:

ari=1 if h31==2 & (h31b =1 & h31c==3/1)
Or should | use the new one, without cough?
ari=1 if H31B == 1 & (H31C ==1 | H31C == 3)

| wonder it that matter considering how the survey was applied.
Thanks

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=2075
https://userforum.dhsprogram.com/index.php?t=rview&th=7460&goto=16147#msg_16147
https://userforum.dhsprogram.com/index.php?t=post&reply_to=16147
https://userforum.dhsprogram.com/index.php

